) /
STEVES AND SONS S XS,
203 Humble Ave. o S é\ % 2
San Antonio, TX 78225 / RAVA / = 5 4 § g Jzg "
ELH §2="os,
- X zVaa 2 L0350 5o%
STEVES / X4 FpsEing
X X \ ”/ ) e, i 0\\ 5 _u(% o
- / /,/, --------- - \\\\‘ 2>m2
D D IDI D e, }'\\ 38" 3
FAN LITE 1/2 LITE 3/4 OVAL LITE 3/4 LITE H\ qlf 2% 5926
SIE v
S|E 62
GLAZED FIBERGLASS DOOR RELIANT DECORATIVE COLLECTION £li

DOUBLE

, DESIGN %W

INSWING/OUTSWING

wn
=
2
ng -
Z
33| =&
" " ) o=
NON-IMPACT $8 s E8
74" MAX. OVERALL wo IS o
FRAME WIDTH B8 o
n=1|9 <
LT3
& R
= o %]
fa) = gy
1 ? o el £
& < o
o o
o —_—
sz X %
<3 4=
GENERAL NOTES oZ g 2]
T X SDD,
. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building =0 <§< =
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ). ih T & O
— W [T} [75)
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment fo base S %z =
material shall be beyond wall dressing or stucco. - = >
(W
o
3. When used in areas requiring wind borne debris protection this product is required to be protected ‘ ﬂ
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.
4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction. |
5
5. Site conditions that deviate from the details of this drawing require further engineering analysis by |
a licensed engineer or registered architect. o
TABLE OF CONTENTS DATE: 4/26/22
SHEET # | DESCRIPTION SHEET # SCALE:  N.T.S.
1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (1X Buck) DWG. BY: RW
2 Door Panel Details 7 Horizontal & Vertical Cross Sections (Direct fo Masonry) XX 74.0" x 81.5" CHk. B:  LFS
3 Panel Options 8 Vertical Cross Sections YES DRAWING NO.:
4 Elevations 9 Buck & Frame Anchoring & Hardware Details L 4
5 Horizontal & Vertical Cross Sections (2X Buck) 10 Bill of Materials & Components —41477.2

SHEET _1_oF 10

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.2.dwg

© 2022 R.W. BUILDING CONSULTANTS INGC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.2.dwg

i - 0.34" @@ | et ] 2u ]
- 1.2" = 24" »' ~— 0.34"
s EXTERIOR N\
X ) S L) N - B L e )
el | b T SR o M1 COMPOSITE COMPOSITE
?r\). e : :s ‘;5 ﬁ‘% “:' ' & . P 3 ‘ . : 4 -.-/; Iy T / CAP CAP \
e SR < B PRIRL 2] h; B ‘ " [
/"k 4 [ e - . ,_: - [ -
}\ > INTERIOR Z
H‘NE\ELS)"L LOCK BLOCK LATCH STILE TOP RAIL— =
e 1"\ HORIZONTAL CROSS SECTION 19.75' LONG (LVL) ) (v
2 s
1.42" !* 1.56" U ) 5 &
Tﬁ T HOT MELT BUTYL - L:S/g'BlTE FIBERGLASS SKIN 7
AN
_ SV
- ! i o EXTERIOR l_‘" OVERALL GLASS THK. N e
™~ —— = E R )
7K PRODIICHS LTE FRAME. - - " BRI N
| 1 . | 1 L __—1/8" TEMPERED GLASS o S
‘%D‘y et | DECORATIVE INSERT r‘ N
\? " .'_ s oo, \
TKI PRODUCTS LITE FRAME  ODL LITE FRAME (EVOLVE) LR ‘QNR SPACE
. 3 f 1/8" TEMPERED GLASS
35.75" MAX. DOOR . INTERIOR SWIGGLE SPACER
- —— 35.75" MAX. DOOR )
21.125" MAX. D.L.O WIDTH —— WIDTH #8 X 1-3/8" PH SMS
° . o * 20 75“ MAX D LO GLAZ’NG DHA'L
WIDTH ) YR C)m PRODUCTS LITE FRAME
WIDTH .
EXTERIOR INTERIOR
W
HOT MELT BUTYL 9/1¢"
/ GLASS BITE
a EXTERIOR F 1" O.A. GLASS THK.
@ | § 2 - __— 1/8" TEMPERED GLASS {RAIN)
. fond E \{ ' ’?\
o gé 25 %" £~ AIR SPACE Z I
O n™ 0 i - X © ? ~_1/8" TEMPERED GLASS (RAIN) \i N
£ %9 39 o
g~o 41 ¥3 ol 11 INTERIOR o
Q STEEL INTERCEPT SPACER SRR
: [0} #8 X 1-1/2" PPH SMS g
E T , T (HI-LO THREAD) GLAZING DETAIL /A
= Vi @ 3/4 LITE: 20 TOTAL @5————— ot
o / DL LITE FRAME (EVOLVE) SN
LA ¥
e} ». M
SEE HARDWARE TABLE FOAM CORE SR
(LATCH & DEADBOLT) P
(TYP.) D ‘
BOTIOM RAILL —|f= N B
: REINFORCEMENT
48 X 1-3/8" PH SMS owiksEr | LATCH: :IgNATURE zsmz " e
; 374 LTE: 16 TOTAL DEADBOLT:  SIGNATURE SERIES (980) f
@ 1F£\2NULT§;:_1 84;8;;\& SCHIAGE | peapaoLr:  BéON (COMP.)
: FIBERGLASS DOOR PANEL ,
40 iifﬁﬁg&éﬁf u?gkm’;ﬂ 40/ oo Le FRAME (EVOLVE) ROCKWeLL | MATCH: PREMIUM HANDLESET f\
DEADBOLT:  PREMIUM DEADBOLT 2 \ VERTICAL CROSS SECTION
FIBERGLASS DOOR SKIN: MIN. 0.07" THK.

CORE MATERIAL: POLYURETHANE FOAM

\2/

June 6, 2022

P.O0. Box 230, Vairico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

FIBERGLASS DOOR
DOCR
PANEL DETAILS

STEVES & SONS
PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4/26/22

SCALE:  N.T.S.

DWG. BY: RW -

CHK. BY: LFS

DRAWING NO.:
FL—~41477.2

SHEET _2 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



TONT SANVITINSENQOD aNIQINg "M'd 220828 Q

£186 oN Ansibey 3dad SNOISIATY
L616°6S9°CL8 "ON suoyd i
S6GES T4 ‘COMIDA ‘0€Z Xog ‘O'd \§ SNOULJO T3NYd A8 Ve O, o RN
o__,____ Lm_.zﬁ._:mzoo oNIgng \&a IGW3ISSY 80 18vd o= %= N
! I N|Z g -
Wt 1y <+
N\ WNogl, 6oves ON “3d J00a SSY19434l4 NP 2153 3_
D yaniog . Y7, wiwuos 4 uopum SNOS # S3ALS TEIFIMEEIE:
SN ﬂi.&s\ : mwmmm
: :L0NA0¥d 3|3|8]|5|8 %

RARN NN

3/4 LITE

X
3/4 OVAL LITE

J

&
X
1/2 LITE

RELIANT DECORATIVE COLLECTION

FAN LITE

BMP'Z LL Ly~ 14\0202) LLYLy-T4\sBUMeIq - D\SIIS LNVITTY LLPLy-14\s|eroiddy 1onpoid BPLOJS - Y\IUBUEWIIS - SUOS PUE SBAIS\SIUBIDNZ



TON SANVLINSENDOD ONIQTINE ‘MY 2202 @

£186 ‘oN Ansibey Idgd SNOISIATY

LEL6°BG9'CLR 'ON 2uoud A8 41vd [ON N O
G6SEE T4 ‘OOUIPA ‘OEZ Xog ‘O'd E\u SNOLLYAS 13 m G N 1_
ov_:_ _.m.rzs.'_:mzoo oNIaTINg M\M ICTGWASSY 90 Lavd Q _.Nu <8

iy, o
W 1, 3004 SSv1oy3ald N LB
//zzﬂkﬂ JKJO\@.%Q\ 60¥Ey ‘ON “3'd SNOS % SIATLS HolE Bl a~
///040&3« %, IPIUYDS "4 UOPUAT i m s | w [T
II& K .... ¥~ :Ag pedodeid sjusWLINOOG 1LONAaoNd 3 5|5 %

x
2
g x
g
D
"'g

(2

\8/

ELEVATION
XX

BMp Ly L-14\0202) LLvLy-TA\sBuIMeIq - D\SIYAS INVITTY LLyLY-14\s|en0iddy 10npoid BPLO}S - Y\JUSUBWIRY - SUOS PUe SaA3IS\SIUIDNZ



(REARAN N
¥ 1

)N 7
\\\\\ x 7
& L eveemenn /l? ,
S A (O
. \\ Q o" T, -~ g
\ - > 4 v . ~ N ‘e - 0
— — V . v S8y 3 &z
T o ', & . =X S Diézg ”
20 SO :_:_g:.ﬁ b i,
v . > | ./ - E _‘... = Q'.:Q:'Q 656
> A o B : W, FOS Z 200
z 7 %, > OS> FE59 4
P e ., Ny -4 Do
. 2 b L7 S 8 i g 4
>M® XO 1
»a Zo ‘o \@ ‘ny, N Sn® g
S 015 CSINK ZE | . By axSD
c (rvP) Tg — () 1g, 2838
e e I TE 5 —4 :f3 5%,
R ~— £4y 5925
T l A QIE 5
Q : o N N — ——— s <8
s 4 A . OlE o
Ca LIV LY o @ @ g § Ehj g
a & >‘ :
a INTERIOR .\ S8 2w
. i
| f!lf'll!‘il///i//!/‘i!:" i ES TS A —~
. A, f’ &J§
’ : @ x| =2
@ o P A\Y %8 %fﬁ
s - - o >N
s S EXTERIOR 1 INTERIOR 23 B
1. b & 17,1 Ej <
1o 313 2=
| )/ ("2 VERTICAL CROSS SECTION sl S8
e EXTERIOR 5 JShown w/ 2X Buck . B3 B
S FAERRD Outswing shown § x %§
1-1/4" MIN, D 8 RS
EMB. (TYP.) , o 5 ) & &
/ 1"\ HORIZONTAL CROSS SECTION . e T
\5_/Shownw/2XBuck T T R
Outswing shown {Inswing similar) = N o e a
2z (O “
“ 0.
= 2
S Q
SEE NOTE 1 =< @»—* %
— i 33 al
o
4 @
-~
| / ! ' @ =
7 \x \‘ :
®— (39 -
o
@ EXTERIOR " o INTERIOR =
@ - 0 DATE: 4,/26/22
/3 VERTICAL CROSS SECTION sE  NTS.
Note: (4 "\ HORIZONTAL CROSS SECTION 5 Shown v/ 2X Buck T
1. Screws located 8" from each end of astragal plus \yOu‘rswing shown (Inswing similar) CHK. BY: LFS
four (3) more located @ 23", 37" & 48" down from DRAWING NO.:
the top of the astragal (5 screws total - countersink 3/16"). FL—41477.2
SHEET _ 5 ofF 10

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020\FL-41477 2.dwg

© 2022 R.W. BUILDING DONSULTANTS ING.



"ON| SANVYLINSNGODYD aNIid™Ing "My 2202 @

€186 'ON Ansibey Fdad SNOISIATY

L616°659°CLY ON euoud (1ong X1) SNOILO3S SSO¥O -
sesce 14 “eauio ‘ogz xoa 0'a [l WIILYIA % IVINOZINOH Ad VD O yilz o] R 9|
o_7_=_ Lﬂz«b:mzoo oaNIaTINg K CTaN3ssY H0 1avd SIEEE]L s
/,/,,%r<z%\m\\\\ soves oN g 4000 SSY19¥3814 W 2] e ,4_” o
[&)
Q.o S %, puiies 4 wopusy SNOS % S3A3LS ME B Blg Ll
. 3\\#6 peJodalg sjuswinoo(g 10Nao0d m g an m W %
3 &= TT0T ‘9 dung
3 ¥ S
t . 6OVEFON ¢ X
% e denmon i &
TG e NS
\um\r‘\ hIu”v..mw /‘n,unl
LTI .
Q
o
® &
<
g (&) z
g 8
v ,V.AA. 5 o
B _ , “ 9
. . ) 1 (7]
qa, ” v
g O
‘ ~, &la ¢
< o~ O < 3
K w—l - [e]
M R m WW
KF [}
~ S 5L
o
o
o G
< -] i
: £
< [ R

G . {'dAL) "aW3

s ,
\ 4 & 1
o SRR
o =_§ 14

ST

A '/ =
. Bt ko)
a 2R

i b

NIW.#/1-1

INTERIOR
i

-
FISEIITETET
\\

/ 2"\ VERTICAL CROSS SECTION
\6/ Shown w/ 1X Buck
Outswing shown

EXTERIOR

< &

{dAL) g3
NIW /-1

INTERIOR

%5

O
=
®» @

i
®

Ll
i

1-1/4" MIN.
EMB. (TYP.)

/ 1"\ HORIZONTAL CROSS SECTION
w Shownw/ 1XBuck
Outswing shown (Inswing similar)

AR
v
v
<
v
<
<
RLELALE RN
9
v
<
FIHTIT
q. .
v
<
Vaq . -
. v

BMPZ L2vL-14\0202) LLrLy-Ta\sBumMeIq - D\STIYIS INVITIY LLvLp-T4\s[eroiddy 1onpoid epliojd - Y\IUSUBWIS - SUOS PUB SIARIS\SIUBIDNZ



SON| SANVLTINSNOG 9MNaing "M°'d 2202 @

£i8e oN “neibod 3da (AYNOSYA 0L 103¥I0) SNOLO3S SNOISIASH
LBLB'6S9°'CLE ON suUOyd r
Se3zs 14 “o3uion ‘05z 208 ‘0[] | | SSOMO WOLIA % WINOZIOH A8 e RIPARNE
.O—J_:.-w.—Z(._..._DmZOO ONIgING @« ATENISSY M0 Livd W T.. & M &
W 1, ¥00a SSY19¥34ld N el |F N
////m.vnyw JKQO\OQ\\\\ 80rEY ‘ON ‘3 SNOS ® S3IA3LS MPAEEER _
SV NOHORL, Ry, | IS T o @ld|e|2lET | B
SR 3 V)28 peindesd siuewnsog :10Naoyd & m AHE &
EYr B 220 ‘9 oung
Ixi ¥
3 . eovevoN i S \
2R s 8
-~ [
Z &....Wmimoﬂ A S
7, ooooo‘on.tu //
\\\\\\O\SIom W,/z//
T
S
S O
3 N z Zz
® B
v AA. 4 m m,
v ! (73 2
. } A0
. o=
: o
R Yios
< ~ << 22
| Juppe
. [@)]
v i~ < [
wiQz
[ ,m v wm
v
. ~ o o~
® ¢
%
< [EX]
v
(dAL) "gna S /@
NIW .#/1-1 S
, ~N
ot ("dAL) "aW3

ﬁ_ | o NIW /11

@

w 5)”,} W /rfuzwv,«./wz., ALY ‘ N
L)) S
PP / 1 i~
SHITHINTI I TEIFE - . “ C
- ) o]
propeedify 3
(©) * (][ 318
3 L €k
4. ] 3 - QO C o)
na Ies
bb O 0 mu
, M.
‘a -m W w
. o wlos
s O V Z1®]
ek
| & G
< 1y}

INTERIOR

%

Wz
RN

1-1/4" MIN.
EMB. (TYP.)

Lol
J

|
|
i7/
|

zi

Qutswing shown {Inswing similar)

FIIFHITI )
. ‘
L

/"1 "\ HORIZONTAL CROSS SECTION

\U Shown Direct fo Masonry

«9
v
v
<
v
<
LTI I 4T
g
v
<
LAWY
<
'q,,
- .
<
qq . -
: v

@ @

BMPZ LLpLr-14\0202) LLvLy-T4\sBuiMeld - D\S31YAS INVIT3Y £LPLy-14\s|eaoiddy 1onpoid epLoj4 - Y\IUBUBLLIR - SUOS pue SaAsIS\SIUBIDNZ



TONE SANVLTINENGD 9NIaHnNg "M'd 2202 O

£186 ‘oN Anusibey 3484 SNOLLO3S SNOISIAZY
L616°689°'¢Ll8 "ON 8uoyd ]
Seses 14 ‘osuen ‘ocz %08 05 /] S04 TWOILH3A A8 e R NARNE
‘NI 'SLNVLINSNOD ONIgTIng \&v K1GWISSY 90 Luvd R
awwbiy, 4000 SSY19438l SN Bl DR I - P
///ﬂk@ J<ZO\Q\\\ 60YSH ‘ON 'I'd 2 ElEle | _
O e (P 5oy ‘oN 3 SNOS % S3AILS LB Ele
0&/ -oov‘gwnoc. \\ PYss 4 PUAT m m ol T m
N ' V) 2 A8 peiodaid sjuswnoog :L0NQo¥d HEIHEHE &

TTOT °9 sunf

BOVEY ON

oy
I. l,l
&It oA &
Tiifise S o
\\\\ Iow /f//
T

15

INTERIOR

(30)
32
G

A\

m VERTICAL CROSS SECTION

W Outswing Threshold

(dAL) "awW3
NIW ¥/ 1-1

o

Ol (o~

& \ M

£ ©
£

/"1 "\ VERTICAL CROSS SECTION

W Inswing Threshold

& k (ad e
&

INTERIOR

BMpZ 2Ly Ly-14\0202) LLyLp-1d\sBumeld - DASTYIS INVITIY LLvLb-Td\sieaciddy 1onpoid BPLOJS - Y\lusuBWLIRd - SUOS pue s3ABIS\SIUBYD\Z



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.2.dwg

FRAME CORNERS ATTACHED w/ (3) 7/16" \\\\\‘ ¥ 83,
CROWN X 1-1/2' LONG 16 GA. STAPLES & (2) S %,
. #7 X 1-5/8' DRYWALL SCREWS @ HEAD & SILL & ; %«" 0
4 ~ N z n
] e (TYP.) ¢ S8y 2 wZz 9
(TYP) t 2 (TYP " :I:g g L LATOM
S e |3 (TYP) —— ¢ (7Y SO 2« PL2Z oy
R ey 4 [=—4"(TYP) * 4" (TYP.) —] =08 o &S5 .20
¢ Ll 1 (.l 4 1 !\ jl I i | T ’,w:'. . 0@: <t o
g — 2, e LS S8
.".. T "_f‘ Eﬂ\ // csens \\ § g 2 i‘
A ©
= ~E o 53 SEE HINGE D 8 & iE
] 4 =& N |z . o
2X BUCK 23 DETAIL e, Z 8 i
= L0 e
(F)xsuck B (P SE8S 5928
2XBUCK 1 -+ FRAME || DIRECT TO e —f — >Q Sz v
\ HEAD & JAMBS MASONRY \ ~ ASTRAGAL/SURFACE - S| 52 §
(Yp) HEAD & JAMBS BOLT STRIKE BOLT T £ 213 Lu R
L A (e DETAILS i T 218 5¢
n e SEE LATCH o
GE PE & DEADBOLT Eey
dt ] — -l oS & DETAILL 03 %E'
NCNTY *Z S
T _ DOOR SILE - l@} ®2 %o
= JE (YR - S Qx5 g
L < &% L LA 1 | Qo3 £
L = X { ) ol Lo
NS R AP 2L ~ ,@Lum &
i e = L o R|e S8
HINGE JAMB COMPOSITE ASTRAGAL & SR
7" STEEL FLIP LOCK FLUSHBOLT (5/16' @) 3 | @
MASONRY @ EACH END OF ASTRAGAL x %
2X BUCK ANCHORING FRAME ANCHORING .
DIRECT TO o
MASONRY
\ 1X BUCK
DIRECT TO
o MASONRY e AR Z 2X BUCK
DIRECTT g 0
MASONRY 1X BUCK \\\ @é:‘ i =0‘ @ 5
HOLE ®\ >® \ |
@ 2X BUCK / “@: v &
= z HINGE DETAIL
\ el o — ! INSWING
ll \\ // \\ T S O !
\ lo} 71 7d 's —° W\ DIRECTTO
~ ~ - f A\
N N | Z \ MASONRY "
© 2X BUCK( J @ @SILL LATCH & DEADBOLT DETAIL 1XBUCK S
@ 1X BUCK @HEAD N 2X BUCK S
- i
@ HEAD 31 — MASONRY = \® SCALE: /N T/ S
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS A DWG. BY:  RW
\
INSWING OUTSWING PR
HINGE DETAIL DRAWING NO.:
HARDWARE DETAILS OUTSWING FL—41477.2

SHEET _ 9 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



BILL OF MATERIALS

1.25"

4.56"

0.75"

%

213" ——

WOOD JAMB
FINGER JOINT PINE

- 1.44" =

X |
© 3
Io.é" — T

i
0.94"
@ COMPOSITE ASTRAGAL

244"

1.44"

5.62"

MEM # | DESCRIPTION MATERIAL
A 1XBUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) wOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

H 3/16" X 3-3/4" PFH ITW CONCRETE SCREW STEEL

J #10 X 3" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL

P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 WOOD JAMB WOOD

7 WEATHERSTRIP FOAM

8 SWEEP VINYL

9 4" X 4"HINGE STEEL

11 #9 X 3/4" PFH WOOD SCREW STEEL

12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
30 8" SURFACE BOLT (HAGER 275D) STEEL

31 SURFACE BOLT GUIDE PLATE STEEL
32 SURFACE BOLT STRIKE PLATE STEEL
33 #10 X 2-1/2" PFH WOOD SCREW STEEL
37 ASTRAGAL STRIKE PLATE STEEL
38 ASTRAGAL (COMPOSITE) COMP
39 #10 X 2" FH SMS STEEL
40 DOOR PANEL -

41 #7 X 1-5/8" DRYWALL SCREW STEEL
42 #8 X 2-1/2" FH SMS STEEL

14 INSWING THRESHOLD

Columbia

T
il

15 OUTSWING THRESHOLD
Columbia

|
=N

4.6"

‘—"-! l*- 0.65"

CONCRETE ANCHOR NOTES:

. Concrete anchor table:

. Concrete anchor locations at the corners may be adjusted fo maintain the min.

edge distance to mortar joinis.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded.

TTW BUILDEX

June 6, 2022

n
o
']
)
gn
£ N
oM
[ Bl
E 00w
Z O0go
<“lf)
= = .
J D0 o
2282
W 255
Y 8&%4
& B
o U (D’éz@
£ E Zp K
g =@ o o
O.-SO 5. cu
gAY 502K
LT oo
2,
[ []
v C
E 6% L§
3 T .
g su
o o
e
28 3
QO <(l(2
n e &
gam..EZ
U')5§o
n 3la °§~
YEIE 55
,@Lugoo
a2 d
s x| @
o
3 o
S 2
o o
>
mn
)
Z
o
]
ol
"%
E
<€
o
o
4

DATE: 4/26/22

wood screws fo prevent the splitfing of wood.

TAPCON® [/ | _1/& 7 z T N‘TI;;;
DeWALT , ) - - . BY:
ULTRACON:| 14 1-1/4 1 4 k. o LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41477.2

sHeer 10 ofF 10

ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41477 RELIANT SERIES\C - Drawings\FL-41477 (2020)\FL-41477.2.dwg

© 2022 R.W. BUiLDING CONSULTANTS INC.





